

About Dead sea



although called the "Dead Sea", this sea and the whole region on its shore is very much alive. The dead Sea lies some 400 m below sea level at the lowest point on the earth's surface, and is a part of the Syrian - East Africa Rift Valley, flanked by the Judean Mountains to the west and the Moab mountains to the east.

The Dead Sea is one of the most saline lakes in the world. It is fed mainly by River Jordan in the north and by perennial springs and streams from the east and west. Having no outlet, the Dead sea is a "terminal lake" which loses huge amounts of water by evaporation into the hot dry air. This result in high concentrations of salts and minerals

in a unique composition that is particularly rich in chloride salts of magnesium, sodium, potassium, calcium, bromine and various others. The Dead Sea brine's chemical composition reflects erosion, as well as the recycling of older deposits.

Leaching of minerals from the geological strata also contributes to the Dead Sea brine and to a number of thermo mineral springs along its shores. In addition, alluvial deposits form the much valued Dead Sea mineral mud, also known as Dead Sea therapeutic black mud.

The uniqueness of the Dead Sea has been known for centuries. This is the only place in the world with this particular combination of exclusive spa benefits: peculiar sun radiation and climatic conditions, enriched oxygen atmosphere, mineral-rich salt sea, thermo mineral springs, and mineral-rich mud. In days of old, Dead Sea water and salt were imported to Italy by Roman nobles. Judean asphalt, the bituminous substance rising to the surface of the lake, was used for many industrial and medicinal purposes. Plants growing in lakeside oases, especially the balsam tree, produced valuable and highly sought-after cosmetics, perfumes and medicinal substances. Their value were of such great economic importance that wars were fought for their possession, as when Mark Anthony conquered the Dead Sea area for Cleopatra.

Today, the Dead Sea Works is a major industrial complex which for many decades has extracted potash, bromine and other chemicals for worldwide exports.



Dead Sea Product

Welcome Due to the high quality of Dead Sea products, they become worldwide well-known products. Hereunder some of their effects and benefits:

- Help stimulation of blood circulation
- Reduce and relieve backaches, joints and rheumatic ailments
- Relax body stress and tension
- Help in solving and curing a lot of skin infections such as psoriasis and eczema
- Help the body to get rid of excessive medicine & toxic residues
- Help in dilating skin pores in all its layers
- Restore the balance of minerals in the skin
- Preserve the balance of moisture in the skin
- Help the sweat seeps out from the body
- Prevent sweat peers, as the use of Dead sea products eliminates the bacterial breeding and leaves the sweat dripping odorless
- Keep the skin smooth and firm refined from wrinkles and facial lines
- Have obvious positive effect and relief on people suffering from joint arthritis and relieve muscle stiffness and limbs chilling especially in those practicing sports
- Remove dead skin layer and urge obvious metabolism and revive the cells & tissues
- Assist the strengthening of hair roots & keep the scalp clean from oils and dandruff



Hair & Scalpe

Article No.	Picture	Item name	Description	Price (Us dollar)
3201	Shakaran Andrews	Naturally Nourishing Shampoo	A unique blend of herbal extracts (Nettle, Sage, Chamomile, Rosemary, Thyme, Malva, Oat) combined with mild cleansing agent enriched with Dead Sea Minerals. Prevents dandruff, reduces scaling and itching. It leaves hair and scalp clean, healthy and full of body. Balanced pH formula to care of hair physiology.	3.5 \$
3207		Naturally Herbal Hair Conditioner	This intense, luxurious hair conditioner is extra moisturizing and full of nutrients to keep hair healthy and growing. Infused with real herbal extracts (Nettle, Sage, Chamomile, Rosemary, Thyme, Malva, Oat) enriched with Dead Sea Minerals, rich with mild antistatic agent that penetrate into the hair fiber deeply revitalizing hair without weighing it down.	3.5 \$
3208	HAIR BATH HEALTHENI THE ALTHENI THE ALTHEN	Hair Bath Tre atmentment	The most effective hair bath, developed to treat dry, damaged and porous hair. Blend of Natural Oils infused with (Milk, Honey, Vitamin E) enriched with Dead Sea Minerals. Goes deep in your hair fiber to help repair damage and restore its natural beauty, leaving it noticeably smooth and more supple.	4.5 \$





Hair Los Treatment Lotion A blend of Plant Extracts and Oils (Garlic, Nettle, Sage, Chamomile, Rosemary, Thyme, Ginseng, Watercress, Malva, Tea Tree Oil) enriched with Dead Sea Minerals that stimulates, strengthens hair structure while nourishing and prevents hair weakening.

9 \$

3216

Hairless Herbal Cream Hairless Herbal Cream is a natural blend of Eudermal and Essential oils enriched with Dead Sea Minerals designed specially to reduce hair regrowth and work by slowing the metabolic activity involved in the hair's growth process. Direction: Apply sufficient amount on waxed or tweezers depilate skin areas, massage in gently to ensure complete penetration. It is advised to apply daily for one week and to renew treatment after each depilation until full satisfaction. It will get rid of unwanted hair and at the same time moisturize the skin leaving it soft and smooth.

9 9

Facial Care

3220



Moisturizing Day Cream A Light non-greasy formula of Botanical Extracts enriched with Dead Sea Minerals, helps hydrate moisture deprived skin cells. The advanced UV protection system with Vitamin (E) helps protect skin from daily environmental damage such as UV (A+B) rays responsible of skin ageing. Rich with Jojoba Oil, which has a moisturizing and lenitive effect on dehydrated skin. Apply morning on face, neck and after using the facial mud mask. Spared in circular motion twice a day for perfect protection of the skin. Suitable for all skin types.

5.5 \$





Revitalizing Night Cream This rich Night Cream has been formulated to actively nourish and hydrate the skin while you are resting, leaving it soft, supple and nourished. It regulates sebum secretion, tightens the pores, soothes and smoothest the epidermis. Vitamin complex in this formula nourishes the skin, encourages cell renewal and smoothest out wrinkles restoring fresh and healthy look. Apply evening in an upward and circular motion to face & neck. Suitable f or all skin types.

Unique formula, composed of naturally deep hydrating agent, natural Almond Oil, with a complex of Plant Extracts contains Centella Asiatic, Horsetail, Hammamelis, Lemon, Hops, Pinem, Rosemary and Sage with Vitamins and Dead Sea Minerals. Reduces wrinkles and fine lines while increasing the skin firmness. It is quickly absorbed into your skin, leaving it firmer, smoother

Light, gentle formula, infused with Botanical Oils, Herbal Extracts, Multi Vitamins compound and Dead Sea Minerals to sooth and protect this delicate area from dehydration and signs of aging. Minimize puffiness and

dark circles, fine lines and wrinkles.

Sweet Almond Oil revitalize the skin leaving it radiant and smooth. Apply morning under make-up and evening after cleansing, massage gently around the eyes. Suitable for all skin types. An exceptional blend rich of Botanical

Oils and Extracts, with Vitamins and

Dead Sea Minerals. Helps promote a

revitalizing natural skin tones. It gently penetrates the skin nourishing it and

healthy fair vibrant complexion,

resulting in direct fading out and smoothing out skin tone more evenly. Contains Natural Physical Whitening agents and Sun Blockers to protect the skin from harmful (UV) rays. Apply on face and neck morning under make up and evening after cleansing, spread it

Chamomile Extract, Oleum Sesame and

and younger.

8 \$

5.5 \$

3219



Anti-Wrinkle Smoothing Cream

3224



Hydrofirming Eye Contour Cream

8 \$

Emollient Lightening Cream

3222



8 \$





Natural Whitening Cream ently to get uniform smooth lightening film on the skin. Can be used as base cream. Suitable for all skin types. It contains natural fairness ingredients, UV protecz`tants, Vitamin E . enriched with Dead Sea Minerals,. Use regularly, gently penetrates the skin resulting in a gradual fading out of unwanted marks, freckles, dark spots and sun spots. Use as a daily moisturizer. Gently massage onto face and neck. For Best result, use after cleansing with any of the cleansers range (cleansing milk, Toner or Face Wash). Natural White cream is an ideal make - up base.

8 \$

3225



Exfoliating Scrub Cream Infused with Almond Shell Granules, Dead Sea Minerals. It removes hard and dead skin cells, accelerates cell renewal. Finely ground Almond Shell Granules act as Natural exfoliant which clear away the dried skin Layer and any existing impurities. It cleans, nourishes and stimulates the skin, keeping it soft and smooth. Apply on wet hands, face, neck and rough dry skin, massage gently in circular motion, rinse with warm water and dry. For all skin types.

6 \$

Mineral Facial Wash This revolutionary formula, based on mild cleansing agent, Herbal Extracts, enriched with Almond Shell Granules and Dead Sea Minerals is the best way of deep cleansing and exfoliating. It has deep cleansing and exfoliating action for rough skin on elbows, joints, feet, and dark sensitive skin. Use C-LAND ® Toning Exfoliating Wash on wet hands, face and body by massaging gently, leaving it for few minutes then rinse with sufficient water. Leaving the skin feeling fresh, clean and energized. Suitable for all skin types.

4.5 \$

3231







Facial Cleansing Milk Rich emulsion of Botanical Extracts and Dead Sea Minerals for daily cleansing. Removes dead skin cells, restores normal face moisture, purifies and nourishes the skin. It acts as a natural stimulant to skin while removing excess sebaceous material. Ideal for removing traces of make-up or impurities. Saturate cotton ball with C-LAND ® Facial Cleansing Milk and gently sweep over face and neck in circular motion. Suitable for all skin types specially the sensitive one

4.5 \$

3235



Mineral Refreshing Facial Toner This cocktail of Natural Fruit Acids and Flower Extracts enriched with Dead Sea Minerals, effectively controls excess oil and sebum. Purifies, tones, softens and refreshes the skin while restoring the pH balance.Apply C-LAND ® Facial Toner morning and evening with a saturate cotton ball, gently sweep over face and neck in circular motion and avoid eye area. Repeat for further toning. Suitable for normal and oily skin. For dry skin it is recommended to dilute the toner.

5 \$

Toning Exfoliating Wash

This revolutionary formula, based on mild cleansing agent, Herbal Extracts, enriched with Almond Shell Granules and Dead Sea Minerals is the best way of deep cleansing and exfoliating. It has deep cleansing and exfoliating action for rough skin on elbows, joints, feet, and dark sensitive skin. Use C-LAND ® Toning Exfoliating Wash on wet hands, face and body by massaging gently, leaving it for few minutes then rinse with sufficient water. Leaving the skin feeling fresh, clean and energized. Suitable for all skin types

3232





Facial Mud mask Based on Dead Sea Mud Minerals, helps control winkles caused by age and fatigue. Its deep penetrating, exfoliating action removes excess sebum from the pores, leaving skin smooth and refreshed the skin. Removes dead cells, deep cleanses, purifies, renews, firms and refreshed. Apply C-LAND ® Facial Mud Mask evenly to cleansed face and neck using facial brush or finger tips, avoiding eyes and mouth. Leave mud mask for (20 - 30) minutes, remove by circular motion and gently massage by finger tips, then splash with lukewarm water. Can be used 2 - 3 times a week for oily to normal skin, once to dry skin. It is recommended to use moisturizer day cream after the application. For external use only.

5 \$

3233

Sunscreen Lotion SPF 30+ external use only.
Unique SPF (30+) formula, provides protection against harmful (UVA) and (UVB) rays and helps to prevent sunburn, while a unique Blend of Minerals, Vitamins, Moisturizers and Antioxidants, nourish and protect the skin against pre-mature aging. Apply liberally (15) minutes before sun exposure. Re-apply after swimming, toweling off or excessive sweating and as needed for healthier looking skin. Suitable for all skin types.

7 \$

3227



Body Care

Dead Sea Body Mud

Blend of Minerals and Organic Matters, naturally formed over thousands of years on the Dead Sea bed. Rich of Magnesium, Potassium, Calcium, and Bromide witch act for renewal and regeneration while removing toxins and dead cells with an exfoliating action. Its cleansing properties purify, revitalize and firm skin tissue. It stimulates blood circulation, increasing Oxygen intake and draining trapped fluids. It is helpful for joints inflammation, muscle and tissue strain. Apply on scalp and body, Leave for 20 minutes; wash off with lukewarm water, without using soap.

4 \$

3241







Anti-Cellulite & Lifting Mud Suitable for all types of skin. An advanced formula that's consists of Dead Sea Mineral Mud and carefully selected Blend of Herbal Extracts (Centella Asiatica, Guarana Seeds, Zingiber Officinalis, Hydrolyzed Wheat Protein, Wild Thyme, Lupine Extract and Horsetail Extract), chosen for their potential action on the skin. Effectivly dismantles adipose and fatty tissue, reduces appearance of Cellulite. Apply to problematic areas by massaging in a circular motion, then warp with line cloth or foil paper and leave for 30 minutes, rinse off with water.

7 \$

Naturally Rich **Body Lotion**

A new superbly luxurious, instantly moisturizing lotion contains Natural Oils (Jojoba, Almond and Olive) rich with Vitamins, blended with Herbal Extracts and Dead Sea Minerals, known to promote healthy and firm skin, provides maximum softening and rehydration. Revitalizes and invigorates dry skin, leaving skin silky smooth and providing all day moisturizing effect. Apply C-LAND ® Naturally Rich Body Lotion often as desired to moisturize your skin, while leaving your body bright and fresh scented. Easily spread, quickly absorbed.

5 \$

5 \$

Mineral Massage Cream

unique formula rich of Essential Oils, Botanical extracts enriched with Dead Sea Minerals, increases locally blood circulation and heat contributing to the soreness and stiffness mitigation and

ioints mobility improvement. For fast relief of minor aches and pains of muscles and joints, simple backache, sprains muscle, stiffness and soreness. Use onto affected areas until completely absorbed. Avoid contact with eyes or broken skin and mucous

membranes.

3250

3226







Stretch Mark Removal Lotion

Unique formula contains Natural Plant Essential Oils(Cocoa Butter, Shea Butter and Avocado Oil) with the highest grade of Natural Lanoline enriched with Dead Sea Mineral. Extremely effective in the removal, treatment remedy and cure of stretch marks and other pale areas on skin, especially those caused by weight loss and pregnancy. Gently apply C-LAND ® Massage Stretch Mark Milk onto clean skin a few times a day. Use over the body where stretch marks are found, applying with fingertips on any areas with stretch marks. For best results to be used after the third month of pregnancy.

6\$

3255

3261



Natural Cleansing Scrub Soap Mixture of pure Vegetal Oils (Palm, Coconut, Olive) with Dead Sea Minerals, essential to healthy glowing skin, that deeply cleanses, gently exfoliate and smoothes your skin. Mixed with Almond Shell Granules which act as natural scrub element. Use C-LAND ® Mineral Scrub Soap whenever skin scrubbing is needed in order to soften your skin and remove layers of dead skin cells, especially on rough skin onto elbows, joints, feet and dark sensitive skin. Scrub soap can be used for all skin types. Scrub soap contains no animal fates. Natural Oils (Palm, Coconut and Olive Oil) blended with Dead Sea Mud and Glycerin. Mud Soap cleans deeply the

skin by removing excess oils, sebum and impurities. The Natural Dead Sea Mud fortifies the skin with Essential Minerals and decreases the appearance

of blemishes and acne. Use C-LAND ® Black Mud Soap daily for cleansing face and body, leave on your skin for few minutes and then rinse with warm water for silky smooth skin. Suitable for

normal and oily skin. Mud Soap

contains no animal fats.

2.5 \$

Natural Cleansin



Cleansing Mud Soap

2.5 \$





Natural Cleansing Salt Soap

Natural Oils (Palm, Coconut and Olive Oil) Blended with Dead Sea Salts, Glycerin and Natural Salysilate. For topical assistance of Acne, Eczema, Psoriasis control and removal of impurities. Mineral Salt Soap has a lifting action on the skin keeping it moisturized and clean. Use C-LAND ® Salt Soap daily for cleansing face and body to have a bright skin. Suitable for normal to dry skin. Salt Soap has no animal fats.

2.5 \$

3280 3281

3282



Mineral Bath Salts

An extraordinary concentration of more than (26) different Minerals and Trace Elements, extracted from the worldfamous Dead Sea. Bath salts exfoliate and revitalize the skin, while helping to eliminate toxins. It helps to relieve aches and pains, prevents stiffness, relaxes the muscles, dissipates tension, eases arthritic and rheumatic pains alleviates tension headaches and relieve skin ailments such as Acne, Eczema, and Psoriasis. Dissolve contents of C-LAND ® Mineral Bath Salts into your bath or Jacuzzi filled with warm water. Relax and enjoy the effects remaining in the bath for 20 minutes, then rinse with lukewarm water. (Do not use soap). An advanced hand treatment that is formulated with Botanical Oils and Extracts, Vitamin (E) enriched with

Dead Sea Minerals to help soften and restore the natural oil balance of your

moisturizes, protects the hands while leaving your hands bright and fresh scented. Apply on hands and Massage until absorbed. Easily spread, quickly absorbed. Especially good for dry and

hands. A daily care cream that

chapped skin.

2 \$ 2.75 \$ 4 \$

Emollient

Hand Cream

4.5 \$

3246





Naturally Aromatic Massage Oil

An exceptional combination of Essential and Aromatherapy Oils provides effectively calming, energizing, detoxifying and sliming while it is extremely effective in easing severe muscular pain. C-LAND ® Naturally Aromatic Massage Oil contains nutrientrich body massage oils (Almond Oil, Eucalyptus/Mint, Avocado Oil, Sesame Oil, Jojoba Oil, Olive Oil, Tea Tree Oil, Lavender Oil), Vitamin E and Dead Sea Minerals. Leaves your skin smoother and radiant all the day. Can be used daily, ideal for massage or for applying directly on the skin.

5 \$

Mineral

Invigorating Shower Gel

The perfect way to start a day. Blend of Mild Cleansers, Skin Conditioner and Moisturizers, rich with Plant Flowers and Herbal Extracts. It leaves your skin moisturized, refreshed and pleasantly scented. In shower, squeeze C-LAND ® Mineral Invigorating Shower Gel onto a wet bath puff, work soothing skin conditioners into rich lather. Apply to body, then rinse thoroughly. Suitable

for all types of skin.

3248



Serial	Article		Unit		Unit	Price/cart	Gross	
No.	No.	Description	vIW	Packing	U.S.\$	U.S.\$	Weight	Carton Size
110.	110.	Description	Ml/gm	Pcs/cart	(F.O.B)	(F.O.B)	(kg)	(cm)
		Dead S		scalp Care		,	\ 8/	
1	3201	Nourishing Shampoo	200ml	48	3.50	168.00	11.3	35*30*18
2	3207	Hair Conditioner	200ml	48	3.50	168.00	11.0	35*30*18
3	3208	Hair Bath Treatment	250ml	36	4.50	162.00	10.8	33.5*25.5*23.5
4	3215	Hair Loss Treatment Lotion	125ml	48	9.00	432.00	8.5	41*29*14
5	3216	Hairless Treatment Lotion	125ml	48	9.00	432.00	8.5	41*29*14
Dead Sea Facial Care Products								
6	3220	Natural Moisturizing Day Cream	100ml	48	5.50	264.00	6.1	38*29*16.5
7	3221	Natural Balancing Night Cream	100ml	48	5.50	264.00	6.5	38*29*16.5
8	3219	Anti-Wrinkle Cream	50ml	48	8.00	384.00	8.6	43*29.5*22
9	3222	Emollient Lightening Cream	50ml	48	8.00	384.00	8.6	43*29.5*22
10	3223	Natural Whitening Cream	50ml	48	8.00	384.00	8.6	43*29.5*22
11	3224	Eye Contour Cream	50ml	48	8.00	384.00	8.6	43*29.5*22
12	3225	Exfoliant Scrub Cream	100ml	48	6.00	288.00	6.0	38*29*26.5
13	3231	Mineral Facial Wash	200ml	48	4.50	216.00	11.3	35*30*18
14	3234	Facial Cleansing Milk	200ml	48	4.50	216.00	11.3	35*30*18
15	3235	Refreshing Facial Toner	200ml	48	5.00	240.00	11.3	35*30*18
16	3232	Toning Exfoliant Wash	200ml	48	5.00	240.00	11.3	35*30*18
17	3233	Facial Mud Mask	150gm	48	5.00	240.00	8.6	38*29*16.5
18	3233	Facial Mud Mask	190gm	48	6.00	288.00	12.2	38*29*16.5
19	3227	Sunscreen Cream	125ml	48	7.00	336.00	8.6	38*29*16.5
			ad Sea Bo	dy care Pro	oducts			
20	3246	Hand Cream	100ml	48	4.50	216.00	4.1	38*28.5*16
21	3248	Shower Gel	200ml	48	4.00	192.00	11.4	35*30*18
22	3241	Body Mud	250gm	48	4.00	192.00	13.0	36*26.5*20
23	3242	Body Mud	500gm	24	6.00	144.00	12.8	36*26.5*20
24	3249	Anti-Cellulite Mud Cream	500gm	24	7.00	168.00	10.3	36*26.5*20
25	3253	Body Oil Massage	200ml	48	5.00	240.00	11.6	35*30*18
26	3226	Mineral Massage Cream	100ml	48	5.00	240.00	4.1	38*28.5*16
27	3250	Body Lotion	200ml	48	5.00	240.00	11.6	35*30*18
28	3255	Stretch Mark Removal Cream	125ml	48	6.00	288.00	8.6	38*29*16.5
			ad Sea Fo	ot Care Pro	oducts			•
29	3270	Foot Care Cream	100ml	48	5.00	240.00	5.0	38*29*16.5
Dead Sea Soaps Care Products								
30	3259	Salt Soap	90gm	120	2.25	270.00	11.8	34.5*29.5*20
31	3260	Mud Soap	90gm	120	2.25	270.00	11.8	34.5*29.5*20
32	3261	Scrub Soap	90gm	120	2.50	270.00	11.8	34.5*29.5*20
			Dead Se	ea Bath Sal	ts			



33	3280	Bath Salt	250gm	36	2.00	72.00	11.5	47*24*19.5
34	3281	Bath Salt	500gm	24	2.75	66.00	13.8	35*26.5*27.5
35	3282	Bath Salt	1000gm	12	4.00	48.00	13.0	39*30*18.5
Dead Sea Scrub Salts								
36	3288	Mineral Salt Body Scrub	350gm	36	3.00	108.00	15.0	47*24*19.5
37	3289	Mineral Salt Body Scrub	600gm	24	4.25	102.00	16.0	35*26.5*27.5

